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Time : 3 hours

Full Marks : 80

Candidates are required to give their answers in

their own words as far as practicable.
The figures in the margin indicate full marks.

Answer from both the Groups as directed.

Group-A
(Objective Type Questions)
Answer all questions.

1. Write True or False of the following : 2x10 = 20

(a) Money market deals in short term credit

instruments.

(b) The market socialism is characterised by the

private ownership of means of production.
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(¢) The mixed economy refers to the co-

existence of public and private sectors.
(d) WTO helps to promote peace.

(e) Billof landing is required in connection with

an import transaction.

() Globalisation brings with it many new

technologies.

(9) IMF lends money to countries to ease

pressure on Balance of Payments.
(h) SBlis the lender of last resort.
Fillin the blanks :
(i) The salient feature of Indian economy
is
(i) Pre-dominance of agriculture
(i) High per capita GDP
(iii) Slow population growth
() ICICIBankcomesunder ______.
(i) Public sector

- (ii) Private sector
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Group-B
(Long-answer Type Questions)

Answer any four of the following : 15x4 = 60

Discuss the objective and purpose of World Bank

(IBRD) and its role in Indian Economy.

What do you mean by Mixed Economy System ?

Write its merits and demerits.

What is social responsibility of business ? Explain
social attitudes, cutture and heritage in the context

of Indian business.

What is child labour ? Discuss the measures to

eliminate child labour.

Discuss the salient features of SAARC. What are

its main objectives ? Explain.

What is social environment ? How does it affect

on business environment ?

Explain the various functions of Reserve Bank of
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9. Write short notes on any two of the following :
(a) Capital Market
(b) World Trade Organisation (WTO)
() MRTPACT
(d) NABARD

10. Write short notes on any two of the following :
(@) Inflation in Indian Economy |
(b) BPL
(c) FERA
(d) Capitalist Economy System
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